Composition of Functions Notes
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For each pair of functions, find f° g and g ° f, if they exist.
l'f: {(_95 = )s (#I\:J O): (3: 4)} 2'f= {(_45 3): (05 _2)3 (19 gZ)}
g~ {(0; _9.):3 (%15 3:)5/(45 _1“)} g~ {(._25 O)> (3; 1)}

Fog={(0-), (1), (40 D{-Lo R= Howd
9of= 164.3), E1-, B

3. f= {(""4: MS): (Os 3): (1: 6)} 4'f: {(Os —3)= (1= _3): (6= 8)}
g=1{(6,1),(5,0), 3,-4)} g=1{(8,2),(3,0), (-3, )}

Find [g © 2](x) and [& ° g](x), if they exist.
s.g(x)=3f:) 6.2 =x+6
—~, e = gge
h(x) 5@: 4 A(x)=3x

(gohl0) = 3x-4)

et st g

(heg))={2x-4]

7. g(x)=-2x
h(x)=x%+3x+2

(goln)( Q)= =20 134r2)
=2 x4 ‘)
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(neg))= G20y +36204 2
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Uy® ~loxt2

A fix) = x%, g(x) = 5x, and A(x) = x + 4, find each value.
8./1g(D)] 9. glh(-2)] 10. A[f(4)]
g (e=sli}s S W-2)= 244 = 2
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